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For it was located in a corner — N IpE RAOPT

OVERVIEW

The X773 explained that according to 27 (who maintains that by n7mn he pays nn
TPYIIY), the 7awn which states that n°3maw 7 n2wn Mann nan (795X) (even though
[normally] this requires M1°1), is discussing where the store was N7 1722. Our
mooIn explains what is meant by nr 177

- ANN T8Y 1IONY NP NIMINPYY NYINY DIPY 131 1N
For instance it was a crooked street, and when the animal arrived at the bend,

before it turned to the other side (following the bend in the street) -
- 2‘11?’!‘\ NY32 D799 NN NHAN NYMIN

It ate from the nur 0o in front of it without 91157; therefore he pays only mimw an.
- 257 wnm PN AT NN XY INYINY 39 5Y G APRNY A1 HRYUN MINA TN

However if it ate from within the store he pays ips1w 7, even though she ate
it without =151, since that is actually P57 937,

nIvOIN cites a MHWIT?
= 299 XDYIN NN NNNT XY 70 VN 4’}33\’)1‘1’:1

And in the %2521 771%n he answers this challenge from nir nno according to

29, as follows; the mawn is discussing a case where -
- 5y99N) 12ININ YOV INTINY NIV 0T PYV NN NIV PId

For instance there was a donkey laden with goats, and while the donkey stood
still, the goats stretched out their necks and ate from nuna nno. This concludes the

' mpown cannot interpret it as *"w1 does 2173 1212 179377 P Man3, for even though the animal can eat without Mrm,
when it is going from the 7173 to the 7up; the same is not true when it is going in the Jup 121 to the 2173 12n; there it
cannot eat unless there is 2. This should qualify it for pr37 WA, See 1123 owa p"HOW.
? Let us assume the street was shaped like an ‘L’. The animal was walking down the long side of the ‘L’ towards the
base of the ‘L’. As soon as it reached the base instead of turning left with the street it continued straight on into the
base of the ‘L’ and ate from the mni fno of the corner store where the long side meets the base. There was no M1
there, therefore he pays n°Imw mn; it is not considered P1°17 7%¥7. [In this case she can eat without 771 from
whichever side she approaches it (either the vertical or the horizontal part of the ‘L’). See footnote # 1.]
? The entire discussion regarding N, etc. is only by 72n77 °78, which is not actually the P17 1w, We consider it
P11 MY, since it is difficult for the animal to reach it (unless it is n717). However where it is someone’s private
property then regardless of the ease by which the 7n72 can eat from it, it is always considered pri7 mwA, and he
must pay TP R,
* 972",
> It would seem from this *»%w1 that if the 9mn (who can eat only through Mrn) ate, he pays p>rw 7, and if the
goats (who can eat without M) ate, he pays n°371w 7n.

1

TosfosInEnglish.com



RpT "7 'O R,R0 P2 .7"02

MW, Our Moo will explain the answer both according to >"w95 and *"» (cited in 7"7 '01n
failisfain})]
= 99V NN 6V‘1\?ni7ﬂ vI1929Y

According to >''w1s the "»7w17 is well understood -
=W 25UN ININIIN 29 SDINT 07) 222D 199 2OUN NN DIINY NN 2a)ND7

Since regarding the donkey who is eating 91172 (from the [712777 >7°X or] the 1nd
miana]) this is considered 199, but regarding the goats who are eating normally

(without M1°17) from the Man 1o it is considered 32 (not 1737 Mwn2) and pays only 2

NP1,
- ©2290 MY YN N9 99305 P91 B NY N1 991 b 7998 7PNy 19539 wivday)

And according to °''77 w9 it will be necessary to say, that anything which

the goats can reach and eat is considered a 2''117 -
= 79190 593 919NY 199 PRY NNNY 199N

Even for the donkey, who is not capable of eating (from there) without 2117 -
10390 MY 2UN 12) HYY 09 223D PI9IN 98N 2XUN 9990 22)T 9D PNYT Nt S

For it would be awkward to assume the regarding the 921 (who requires M1°m)

this area will be considered P17 9xn7 and regarding the goats that are on him

(who can eat without M1n) it is considered a 2''719. This explanation is unacceptable
therefore we must conclude as stated previously that it is considered a 7"717 for all.

SUMMARY

The nina nnd was at the crook of a bent street, enabling the animal to eat without
771, An actual pro17 mw does not require eating 771 *"y. According to the 7w
if one animal can eat without 71717 it 1s considered 2"77, even for another animal
who can eat only 71 "y,

THINKING IT OVER
What will be the rule if the 71 went without goats and ate from the mam nno?!'”

6 >"1 maintains that eating through M is considered 177 and has to pay 7p>1w ma (even if it is not prI7 MW2).
" The »"1 maintains that if it accessible without 21 it is 1", however if it requires 17 it is considered P1v17 M.
¥ The difficulty with the "1 according to the *"79 will be evident at the conclusion of this Mmoo, See footnote # 5.
? The *»9w1 mentions the goats (on the donkey’s back) to give us a case where it can be eaten without rm;
however even if the donkey eats there, he will pay only n 1w an. [It will be necessary to say that regarding 7%
72177 even the goats on the donkey cannot eat without M°n because it is raised too high for them to reach it
directly.]
' See wn nom.
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